Sumar Decimales (G)

Halle cada suma

599,5 + 845,77 = 6874 + 3,738 =
276 + 8,346 = 0,2546 + 3390 =
5149+ 2321 = 36,94 + 0,283 =
626 + 1,248 = 12,96 + 5,653 =
79,02 + 11,87 = 1,463 + 9818 =
518,8 +22,79 = 7,736 +0,6174 =
4,601 +9,811 = 95,3+ 1,446 =
7876 + 9,889 = 0,5972 +43,78 =
304 + 692 = 0,9088 + 1383 =
390,9 +4141 = 7571 + 8,372 =
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Sumar Decimales (G) Respuestas

599,5 +845,7 = 1445,2

276 + 8,346 = 284,346

5149 +232,1 = 5381,1

626 + 1,248 = 627,248

79,02 + 11,87 =90,89

518,8 +22,79 = 541,59

4,601 + 9,811 = 14,412

7876 + 9,889 = 7885,889

304 + 692 =996

390,9 + 4141 =4531,9

Halle cada suma

6874 + 3,738 = 6877,738

0,2546 + 3390 = 3390,2546

36,94 + 0,283 = 37,223

12,96 + 5,653 = 18,613

1,463 + 9818 = 9819,463

7,736 + 0,6174 = 8,3534

95,3 + 1,446 = 96,746

0,5972 4+ 43,78 = 44,3772

0,9088 + 1383 = 1383,9088

7571 + 8,372 ="7579,372
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